2 3 4 | 5 6 7 8
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 501) Series -
A A
PHYSICAL CHARACTERISTICS
- -
-INSULATOR MATERIAL: THERMOPLASTIC UL94V0 Shell size: EABCD
~CONTACT MATERIAL: BRASS, see sheet 2
GOLD OVER NICKEL L
— Front accessory definition —
see sheet 2
Blank :without accessory
-ACCESSORIES: BRASS, cadmium plated yellow passivation E fl 4 4
cfloating mounting
-SHELLS: STEEL, cadmium plated yellow passivation ) .
8 L cthreaded insert M3 8
FLECTRICAL CHARACTERISTICS 0 Cthreaded insert UNC 4-40
-NOMINAL CURRENT: 7.5A v “female screw UNC 4-40
-CONTACT RESISTANCE: <= 7.3 m ohms
| CONTACT/CONTACT >EI000 Contact number (see sheet 2) ——— | —
-CONTACT/GROUND : >=1200 V 9,15,25,37.50
~INSULATION RESISTANCE: >=5000 MOhms Contacts
ENVIRONMENTAL CHARACTERISTICS P Pin
© | - CLIMATIC CATEGORY: 55/125/56 Termination type ¢
TEMPERATURE RANGE -55°C TO +125°C 4 3 level wire wrap contact
DAMP HEAT STEADY STATE 56 DAYS Plating
SALT SPRAY 48 HOURS 00 © 500 matings/unmatings
MECHANICAL CHARACTERISTICS 43 500 mahmgs/unmaﬁngs for harsh environment
- RETENTION AGAINST TORQUE: - Threaded insert: 0.7 N.m minimum
- Female screw : 0.5 N.m minimum
D D
£ E
a
o
25 WAY for Example A e
< www. fciconnect.com 150 1302 150 406 IS0 1101
§ TOLERANCES UNLESS OTHERWISE SPECIFIED @g
< br [N PESSON  [2006/11/14 [ ] 0 £03 | size Scale
F ’;” LS‘D‘JO"‘;A MdP’E 20027:7/‘4 Eng | P LEGARE 2006/ 11/ 14 LINEAR | o.xx To.1 A2 2.1 F
. ¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
T e OO0 oo [P LEGARE | 2006/ 11714 [Product fomily | Spec ref
a | B Rev
Fc = SUB  MALE DM HES0I series |° (. g637-1739
\-j “ with 3 level wire wrap contact S B
- - - - catalog no CUSTOMER [sheet 1 of 4
2 3 4 5 | 6 7 | 8

PDM:FR&\RH3 B

sTaTUsRETBaI8elehsedprinted?jufed 7, 220188, 2015



a
Copyright FCI. Fc
al | b— m

2 3 4 5 6 1 8
A
< radial gap 0.840.12 i
e H <
=0 2 I
- - I
- | m ;
* i al iy } ‘
I
I
‘ axial gap 0.25£0.15 ‘ —
?3.10 £0.1 o ’
FRONT L insert M3
without F floating mountin ‘ v :
ACCESSORY Blank 9 9 O insert UNC 4 40 female screw UNC 4.40
C
FRONT shell size  Contact number FRONT
PART NUMBER ACCESSORY ¥ XX PART NUMBER ACCESSORY
D*MxxP443 without [ 09 DxMxxP400 without D
D*MFxxP443 floating mounting D*MFxxP400 floating mounting
DxMLxxP443 insert M3 A ‘5 D*MLxxP400 insert M3
D*MOXxP443 insert UNC 4. 40 B 25 D*MOX xP400 insert UNC 4 40
D*MVxxP443 female screw UNC 4.40 C 37 D*MVxxP400 female screw UNC 4.40 I
D 50
E
CROSS REFERENCES HESO0! and FCI
] FRONT
HES01 P/N FCIP/N ACCESSORY
HES0 INxxKP3 D*MxxP400 without —
HES0 IFxxKP3 D*MFxxP400 floating mounting
surface ,\/ tolerance std |projection mm
www. fciconnect.com 150 1302 150 406 IS0 1101
TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
Dr |M PESSON 2006/11/14 NGULAR 0.x +0.3 size Scale
Eng [P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 20 F
¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
Appr| P LEGARE 2006/11/14 |Product family -|Spec ref
8 |2 SUB MALE DM HE501 series | Rex
SCALE 4 F;g/) - 2 COI-8631-1739 |
with 3 level wire wrap contact °
catalog no - CUSTOMER [sheet 2 of 4
2 3 4 5 | 6 | | 8

PDM:FR&RB B  staTusRETEeai8eehsedprinted’joked 7, 20188, 2015



a
Copyright FCI. Fc
al | b— m

2 3 4 5 | 6 | 7 | 8
= DIMENSTONS FOR SHELL E,A,B,C
< A
- Dimensions are in millimeters
i = Shel Numbfer*of A D18 B 102 Coxor | F 1057 G o H fs.sw ] +0.22
©©00000060006" @ S R
©00000@0000600, El 09 30.43 [16.79 (24.99 |q0.47 | 59 " | 19.02]0.80 B
‘ 1
Al 15 [38.76 [25.12 [33.32 |10.47 | 5.9 %" | 27.25|0.80
H B| 25 [52.65 [38.84 [47.04 |10.43 | 5.7 0% | 41.02 |0 80 ;
C| 37 |68.94 [55.30 (63.50 |10.56 | 5.7 &% | 57.45]0 90
7 00.6x0.6 -
s By
= — C
- [ 1
i I ‘ *m_* ]
i P
T
! - 5
(
§
| 3Tshell 9-15
2. 14 shell 9-15 | 9:» e
LT L “
7 e ecssesces |3 B
z &"'@@@e}@e‘e}ee}e}eaeaﬁj
: - — ren cicomnect confimm ] (G| M
TR e M T e B Y B
2.16 shell 25-37 Chr [P LEGARE | 2006/ 11714 |0 [+ ox | %005 ECN 5070273
=~ Appr| P LEGARE 2006/11/14 |Product family - | Spec ref
| [ L38 shell 25-37 F_Cj S SUB MALE DM HESO series [© cq goir 7 R;
= “ with 3 level wire wrap contact ©
J catalog no : - CUSTOMER [sheet 3 of 4
2 | 3 | 4 5 | 6 | | 8

PDM:FR&RB B  staTusRETEeai8eehsedprinted’joked 7, 20188, 2015



2 | 3 4 5 | 6 | 7 | 8
2. 16
DIMENSTONS FOR SHELL SIZE D (50 CONTACTS)
|.38
p— T A
== 7 ( 1
00000000 BDOODOOOOOO, =
@/ '‘00000O0BO0OO0OO00O, @ -
‘@@@@@@@@@(@@@@@@@@U - —
= - | —
+0.91
55.07, 5
+0.76
66.55 11
0.6%0.6
z = ¢
= = +H ~ ¥ -
= = —_ . =3
o = . < -
=~ - ™~ H = =
g — = T =
- _ I 1 < . | _—
r—'—j 1—v—\ B = |
i ‘ —
1 | J
! D
- E
61 1) 0 I
+0.25 —
5266 , =
E = E
-ﬁ ! \ ~
e) ; ‘$$$$$$$$%}$$$$$$$$”
- — (B A AR R R {D L
o - ! e b b O DGO OOODOGODG O
= surface - tolerance std |projection
? Aci t. 150 1302 \/ 150 406 1SO 1101 mm
g " creonnec o TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
© Dr [N _PESSON 2006/11/14 0.x 0.3 [size Scale
F Eng | P LEGARE 2006711714 VAR Lingar o 0.1 A2 2:1 F
¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
Appr| P_LEGARE 2006/11/14 [Product family | Spec ref
o ° Rev
Fc‘ = SUB  MALE DM HES0I series |° (. g637-1739
\d “ with 3 level wire wrap contact S B
catalog no - CUSTOMER [sheet 4 of 4
2 3 4 5 | 6 | | 8

PDM:FR&RB B  staTusRETEeai8eehsedprinted’joked 7, 20188, 2015



